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VI Semester B.Com. Examination, September 2020
(CBCS Scheme)
(F + R) (2017-18 and Onwards)
COMMERCE
Paper — 6.5 : Elective Paper - lll : Performance Management
(Finance Group)

Time : 3 Hours Max. Marks ‘: 70

Instruction : Answer should be written in English or in Kannada.

TN — D
SECTION — A

1. cdrReymomon 5 FINeR vugdr. B8 DI 2 wosnkh.
Answer any 5 questions. Each question carries 2 marks. (5%2=10)

a) 3R, BTOT B0dE3 0D DT ?
What is zero-based budget ?

b) ‘wormS-mOny 5@&@5@5&1 Bert ToTOHROINND ?
How do you calculate Debt-equity ratio ?

C) ‘23eORLT ST003 SR, OB ?
What is activity-based costing ?

d) SmFa tdob eprmm) 3eR.
Give the meaning of transfer pricing.

e) ‘W T RPOW 0TI ?
What is management report ?

f) So0FERT DERES 00TV LI WFF D Ve,
What do you mean by performance appraisal ?

9) QIONEOSd TOPF BTG OTITERD ?
What do you mean by divisional performance ?

P.T.C.
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QIR — W
SECTION -B

OIRYTRTTR 3 @éﬁ@ﬁ GUZOR. B8 @%ﬁ 6 eoBned.
Answer any 3 questions. Each question carries 6 marks. (3x6=18)

2. ™0 a?a;’vm@ TOTUROD wﬁ\&)sﬁdﬁ'oﬁ;ﬁg@e@.
Explain the concept of target costing.

3. AOTTIOWT 3ToR e 23605 S003 aﬁzg’dmé ne SR dgaazs:dﬁ%faﬂ% 3P,
Bringout the differences between traditional costing and activity-based costing.

4. $2853503 25000 o3Es® maaddﬁoda CIOTIOTD mg@a 23 3PB0B0SR

e:ﬁ’zi QTTNE B3 0wl )
DTN 350
FoOF D 3RO 125
TN a‘bemﬁziﬁ@a 100
33 oeesesegried (X 12,50,000) 50
LTINS S0 a?*afg’dr{e;a 2’5
S0 TN (20% :ﬂ_d) 65
23 63} "
DI0H ﬁzgdﬁ%ﬁo (25% ﬁ‘ud) 35
)
STEOI BN (? 2,50,000 %;cﬁ) 25
£ ®

10000 030REFTE 3O wo:’oa%odaddgt@’om&%.

The budgeted expenses for the production of 25000 units in a factory is given

below :

Elements of Cost Cost per Unit (%)
Materials 350
Labour 125

Variable overheads 100
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Fixed overheads (X 12,50,000) 50
Variable expenses (Direct) 25
Selling expenses (20% Fixed) 65
Distribution expenses (25% Fixed) 35
Administration expenses (X 2,50,000 Fixed) 25

Prepare a Flexible Budget for the production of 10000 units.

5. 33 3INT B98N0 2,080 ﬁoﬂ@ﬁ ROROTTEITS :
RP02E} 23S B 03T - X 50
VTR 5%, B 0320 - X 40
2355 da‘g’&r@o— < 1,50,000
BO@IEROWD ;
a) #m%@@ 20T ~ CRRIFNPE 082 BRZTEY,
b) 2000 PP ﬁ:ﬁa,?%% 2I0T30e3530,4000 030" Nen 3R BRETN wi00e3 WS,
BOTOLROW0.
The following information relates to a firm :
Selling price per unit —3 50
Variable cost per unit — X 40
Fixed cost — ¥ 1,50,000
Find out :
a) BEP in units and in amount

b) Find out selling price per unit if BEP is brought down to 4000 units.
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6. 33 3PNT BR&WECWOT (a) T 303, 73,00 (b) > TT 303 3083 (¢) Fed MG
B, 01T, BOTEERCAD.
Eeaeesd nogdnsh — 20000
SR nowngd — 25000
B@ede 8rITT — 3 15 B8 noedn
2oR® BROTTC - 12.5 &3 nowdn

Using the following information, calculate (a) Labour Cost Variance (b) Labour
Rate Variance (c) Labour Efficiency Variance.

Standard hours — 20000 hrs
Actual hours — 25000 hrs
Standard wage rate — ¥ 15 per hour

Actual wage rate — X 12.5 per hour

TN — 2
SECTION -C
BRTRITR 3 TIrert wugdr. I TIM 14 Wz,
Answer any 3 questions. Each question carries 14 marks. (3%x14=42)
7. a) WeneT $500s ﬁzia@ﬁ@d w%@r\’% o3Py ?
b) o0 BT BOBNTI D@D
R <
a) What are the objectives of activity-based-costing ?
b) Briefly explain the steps in target costing.
8. BOFTIE ATF Teeo B F[RHOD- VNG, 308 WRBRONTR) IPR.

What are the needs and advantages of performance management information
system.
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g. :‘;;ﬁwéb FomROD 2 TRFNTA B8 FoE addﬁ#@tae@d

Aief 31-03-2019 31-03-2020
TV $72,90,000 3 81,00,000
onih ¥ 1,62,000 3 4,05,000
FOTOREOWD

a) Ry AT TORIIED

b) A0 &5,

c) ¥ 27,00,000 €23 NeR0 WesaNTes SRT0ts B0
d) =3 o BegTY,

e) emﬁ 6,48,000 am@ﬁ iedo&a\% £90TIDTL

f) ¥ 90,00,000 d}:cmsﬁ WD Y

Q) VRO TRF ST LTRMRI e,

Vaishnavi Co. reports the following information for 2 years

Particulars 31-03-2018 31-03-2020
Sales ¥72,90,000 ¥ 81,00,000
Profit % 1,62,000 3 4,05,000
Calculate :
a) P/V ratio

b) Fixed cost

¢) Sales to earn a profit of ¥ 27,00,000

d) BEP (in amount)

e) Margin of safety at a profit of ¥ 6,48,000
f) Profit when sales are ¥ 80,00,000

g) Variable cost for 2 years.
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10. Hv* sogmor $obQ, 10000 CRRDTF Y 50T PVTTN BN B3y B Qedis.

B2 e )
ADTOINTED 3700
FFT B, ¥ 250
BRI FoeLITERD %200
?&d zﬁaemaﬁ%ﬁ@ﬁa (% 20,00,000) 3200
2ITORTOE SN (3¢0) %50
WRTO ﬁ?.‘g;ﬁ@a (10% 2&)6) 3130
280 Segned (20% %@8) 370
5893 S3ned X 5,00,000) 350

8000 03RAEF =i3) 6000 03RREE ﬁ@‘ﬁa 20300RL SN0 a%as’dn’a 20e0RD
TOONE DTS2, o308 08 B 03T BRLVD daéda’a 2@ 3cdA.

The expenses for budgeted production of 10000 units in Prakash Industries

are given below.

Per unit F)
Materials ' Z 700
Labour ¥ 250
Variable overheads % 200
Fixed overheads (X 20,00,000) % 200
Variable expenses (direct) T 50
Selling expenses (10% fixed) ¥130
Distribution expenses (20% fixed) 370
Administration expenses 5,00,000) a0

Prepare a budget for production of 8000 units and 6000 units and also indicate
cost per unit at both levels.
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11, 200 ToRROINE Q0BT BRTESS I :
40% — A Scgs - 80 B8 &R
60% — B Twgr — I 60 I8 871
0309 10% TR Tnese IR OBRCONG.
TORNT AN, W :
90 & — A SeREs — B8 BT 84
160 &33° — B Tegs — B8 w3t 46
SPRE LUBIT 230 LITIED
83 B¢ QETTMPOT D AN, e Z,0DNTTO, FORDEBAD.
The standard cost of a certain components in a chemical mixture is
40% — Material A —< 80 per ton
60% — Material B —X 60 per ton
A standard loss of 10% is expected in production.
Actual cost of materials used is :
90 tons — Material A —3 84 per ton
160 tons — Material B —X 46 per ton
Actual output is 230 tons

Calculate all material variances.




